(#1) NA—T7—=9% A
KA -KEG/NZR—k
64 12H
B % R wRA/AA—k
B Fih| G5 |248%% |25~ |35~ |45~ |558% | BEF |248% |25~ [35~ |45~ |[55&
UTFT | 84 | 44 | 548 | UL UTFT | 84 | 44 | 54% | UL
ASRA| 588 | 140 | 146 | 126 96 80 | 230 41 44 43 43 59
a8 F |HamkE| 22 20 40 40 53 59 | 185 5 17 25 20| 118
RAMER| 277 700 | 365| 315| 1.81 | 1.36| 1.24| 820 | 259 | 1.72| 215| 050
ARRA 1 1 0 0 0 0 0 0 0 0 0 0
ETEE | goR 0 0 0 0 0 0 0 0 0 0 0 0
RAEE - - - - - - - - - - - -
FM-  |BHRA| 105 23 24 20 19 19 17 3 3 3 3 5
AT B RhRE 13 0 4 3 4 2 10 0 1 2 1 6
RARLER| 808 -| 600| 667 | 475| 950 | 1.70 -| 300 150 300 083
AR 49 14 14 10 6 5 23 5 4 4 4 6
B R 56 9 13 15 9 10 47 0 4 11 7 25
RAER| 088 | 1.56 | 1.08 | 067 | 067 | 050 | 049 -| 100| 036 057 | 024
AR 27 7 6 6 5 3 40 7 8 8 8 9
BT | R 6 1 0 1 1 3 8 1 1 3 1 2
RARER| 450 | 700 -| 600| 500| 100| 500| 700| 800 | 267 | 800 | 450
AR 49 10 12 11 8 8 92 16 17 17 17 25
FERW |5 R 25 4 5 4 7 5 25 0 2 3 3 17
RAER| 196 | 250 | 240 | 275 | 1.14| 1.60 | 368 -| 850 | 567 | 567 | 147
AHRA 2 0 0 0 0 2 8 1 2 2 2 1
REE | g3k 6 0 0 0 0 6 5 0 1 0 0 4
RAEE| 033 - - - -| 033]| 160 - 200 - -| 025
AHRA 5 1 1 1 1 1 0 0 0 0 0 0
RAWRE | g3kE 3 0 1 1 1 0 ) 0 1 1 0 0
RANEE| 1.67 -| 100]| 1.00]| 1.00 -] 0.00 -| 000]| 0.00 - -
ARA| 144 38 40 32 20 14 20 4 4 4 4 4
EETRE|gmRE| 39 3 8 9 7| 12| 13 0 1 ) ) 8
RANER| 369 1267| 500| 356 | 286 1.17| 154 -| 400| 200| 200| 050
Wik- |AHFRA 45 9 9 10 9 8 9 1 2 2 2 2
WWOESR | A 3K 13 0 0 1 4 8 4 0 0 0 0 4
RAEE| 346 - - 1000 | 225| 1.00| 225 - - - -| 050
#%-  |AHKRA| 123 29 29 26 21 18 2 1 1 0 0 0
BiE | A3hoKE 11 1 1 1 5 3 2 0 0 0 0 2
RAMESR | 11.18 | 29.00 | 29.00 | 26.00 | 420 | 6.00 | 1.00 - - - -| 000
B | BSRA 38 8 9 9 7 5 19 3 4 4 4 4
BR [BKRE 29 2 6 2 11 8 62 2 5 2 5 48
BEEIRAEER| 131 | 400 150 450| 064 | 063 | 031 | 1.50| 080| 200| 080 | 0.08
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